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Answer the following questions:

1. Choose to answer (a) or (b):
(a) How are ripple marks formed?
(b) How is the angular unconformity formed?

Ay Ay s <l

() (1) o LY pas -1
Sl 7l 585 S ()
38 5l aae o ()5S CAS ()
NERB\

2. Choose to answer (a) or (b):

(@) What would happen when light falls on
diamond?

(b) What would happen when graphite is
exposed to pressure?
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3. Choose to answer (a) or (b):

(a) Explain a way of adaptation of worms and
fish that live at sea bed.

(b) Explain a way of adaptation of the leaves of
desert plants.
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4. Choose the correct answer: s daaaal)l Y A 4
: _ L) faaal) e Lgie s ) dduall
The property of a mineral sample which = e :f Al
IS represente_d by thls_ figureis ......... Sl il (]
a ) Cracking of Mica

CAdahll 4 3,4l (o
e i iy (s
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b ) Foliation of Shale

C Cleavage of Calcite
d Foliation of Gneiss

5. Give reason for: . s:’i?\ Wl e -5
Pumice is lighter than Rhyolite although they Cad sl 1 (e L5 S8 e sl
have similar structure. QOIS P I JPSg

6. Write down _the scientific term el lbiaall o S) -6
. s 409 5_Lall
expressed by the following =

ALial ST yiad Aaly ) ol g "

statement: "L LU e 5l Jeall

Windy deposits that are considered as the
most prevalent examples of wind as an agent
of deposition.
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7. The figure below illustrates some types of _oar (P Ul JSO) g T
motion of tectonic plates. Answer the ¢ Axigisil) 7)) ASpa £ 5l

questions that follow: 240 AN Al Ge el

First: What is the kind of the plate gl A all g ke Nl
motion that caused structures (1) to form? (1) @S/ e oS5 Al
Second: Mention the number that - le JIall a8l e g 2L
represents: A ¢ panall -]
1-Transition vertical faults , el i) -2

S g (g iy Yle (S AN

2-Deep oceanic trenches g e 4. eenll 4
e Ay giill A5 sl
Third: Mention one example that B ' (4) =
resulting from the tectonic motion at

numbers (4)
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8. Compare one of the results of using
organic fertilizers and one of the results
of using chemical fertilizers.
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One of the results of using

_organic fertilizers_
M“‘y'a.“ ddauy) e‘.\ﬁu\ UL aal

One of the results of using

_ chemical fertilizers
Ay glaasl) 5aam! @\Jﬁu\ UL aal
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9. Explain the effect of each of the following-:
First: Light on the distribution of auxins in
plant stem.

Second: Releasing nutrients from marine
living organisms.
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10. Choose to answer (a) or (b):
(a) Explain: Muscovite differs from Biotite.
(b) Explain: Dolerite rock forms in two
stages.
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11. What happen if:
A man dived till he reached the maximum
depth at which algae that have one free end
exist?

s die daag il -11
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12 Choose the correct answer:

The structure that is located between basalt
rock and limestone rock that lies directly
aboVvVe ItiS A veveeennnnnnnnns

; Normal fault

b Reverse fault

< ) Nonconformity

d Joint

: dagaual) eyl jds -12
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13. Write the scientific term expressed by the 8 lall _alall mlaadl) i8I 213

following statement : + A1)
The level that Everest mountain altitude g ) 4] iy (531 (5 sl
refers to. a8 Jaa 48
14. What is meant by: Humus? ¢ JLalL 3 paiall La -14
15. Give reason for the following: e d sl ég": W Jis -15
Halite crystal is characterized by the Jilaill o 58 Sk el )

greatest number of crystalline
symmetric systems.
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16. Choose to answer (a) or (b): ( (@S () s Ay A -16
(a) Compare between: Oxbow deposits 5w ol sy 10w @B (1)
and Wadi EI-Natron deposits. By il gy 9 A 8
(b) Compare between: Alluvial cone and Okl gl
Delta cone. by e 0w (U8 (@)

LGl b g pa g Jud)
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Eéééééééeééeéeécée. eééécééééeéececéeé.
Eéééééééeééeéeéée. Eéééééééeéececéeé.
Eéééééééeééeéeéée. Eééééécéeéececée.
Eéééééééeééeéeéée. Eéééééééeéececéeé.

17. Give one importance of the : a gSt Banl g an GiiS) -17
following: Juall Hsaa 1Y)
First: Mountain roots. SAAN hadall # o sl

Second: The ceramic streak plate




